



Route 1 Box 94
Cumberland St. East
Wiley Ford, WV 26767
304.738.3300

304.738.3300 Fex: 304.738.3384

FA	X
----	---

1 Q ;	JOHN Appolt	
Company:	West Virginia Purchasing Division	
Fax Number:	304-558-3970	
From:	Steve Langan, Project Manager	<u> </u>
Date:	December 29, 2009	
No. of Pages:	10	
Regarding:	DEFK1007-Elkins AFRC	
Action Paguirori	The Penty The Parison The Very Eiler	

Urgent	
AN CURREIT	
• •	

Action Required

☐ For Reply

☐ For Review

☐ For Your Files

Comments:

Attached please find the following paperwork for the above referenced project:

- RFQ pages 1, 6, 7, 8, 9
- Purchasing Affidavit
- Drug Free Workplace Conformance Affidavit
- Bid Bond
- Bid Bond Power of Attorney

The remaining paperwork, which will include all bid numbers, will be faxed closer to bid closing time.

If you have any questions regarding this portion of paperwork, please contact us at 304-738-3300.

Thank you, Steve Langan

2819 SEC 29 A 10:



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Bay 50120 Post Office Box 50130 Charleston, WV 25305-0130

1,000	HI C	(MA)	MER	<u>H. W.</u>	Q
	DΕ	ΕK	10	0.0	7

SERVICE AL	144 (67)
	1

TTOEBA NHOL 304-558-2564

DIV ENGINEERING & FACILITIES NATIONAL GUARD ARMORY 142 ROBERT E. LEE EXT.

ELKINS, WV 26241

341-6368

512.36 \$500.380.950.00 C.0000.0	residence record	TERMS OF FAUE	\$HIP VIA	ROE.	FREIGHTTERMS
BIO OPENING DATE		10/2009	5 T D	DRENING TIME OF	LIBOPM
UNE	QUANTITY	Spring of the State of the Spring of the Spr	HEMNOWESH	OPENING TIME OF	AMOL))fT
0001	, v	LS	968-20		
,	BUILDING	CONSTRUCTION		· · · · · · · · · · · · · · · · · · ·	
	CONTRACT	TO DECLIDE AL	LABOR MATTRA	IS AND COUTS	
	MENT NECE	SSARY TO CONS	L LABOR, MATERIA Truct the elkins	AFRC FOR THE	
f :	CATIONS.	ATTUMAL GUARD	, ELKINS, WV, PE	R THE SPECIFI-	
·	A MANDATOR	1 1	DATORY PRE-BID LL BE HELD ON 11	/19/2009 AT	
	1:30 PM A	T THE ELKINS	AFRC, ELKINS, WV		
•	DISQUALIFI	CATION OF TH	E BID. NO ONE P	D SHALL RESULT IN Erson May	
		MORE THAN ON			
	POTENTIAL	BIDDERS TO C	LL BE MADE AVAILOMPLETE. THIS W	ILL SERVE AS THE	
	PRE-BID.	FAILURE TO P	ROVIDE YOUR COMP	AT THE MANDATORY Any and Sheet will result	
	IN DISQUAL	IFICATION OF	THE BID. THE SENTATION TO VERI	TATE WILL NOT	
	THE BIDDER COMPLETED	R IS RESPONSI THE INFORMAT	BLE FOR ENSURING ION REQUIRED ON	THEY HAVE THE ATTENDANCE	
	WILL NOT A	SSUME ANY RE	DIVISION AND THE SPONSIBILITY FOR	A BIDDER-S	
	ADDITION,	WE REQUEST T		ANCE SHEET. IN . BIDDERS INCLUDE	
			ND FAX NUMBER. ARE REQUESTED TO	מי פחופם פעוקפג	
	ALL POISHI				
IONATURE -		2 SEE HEY	ERSE SIDE FOR TERMS AND CON	DATE	
	lesa T	Esqu	301		2/29/09
me Preside	at	20-1612	658	ADDRESS CHANGES	TO BE NOTED ABOYE

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



ţ

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 60130 Charleston, WV 25305-0130

Request for DEFK10007

DEFK10007

JOHN ABBOTT 304-558-2566

DIV ENGINEERING & FACILITIES NATIONAL GUARD ARMORY 142 ROBERT E. LEE EXT.

ELKINS, WV 26241

341-6368

REPUBLICATION OF THE PROPERTY OF THE PROPERTY

RFQ COPY TYPE NAME/ADDRESS HERE

Langan General Contracting Corp. Rt. 1 Box 84, Cumberland Street East Wiley Ford, WV 28787

DATEPHINT	(C)	187 (2016)	Mé cé ealé		(S)	P VIA 🍏 💮			O B		PRE	OHITTERYS	
11/04/2		ــــ ــــ ـــــــ ــــــــــــــــــــ								<u>باب</u>			<u> </u>
BID OPENING DATE:	GUANT	2/10/ FV		AT .	πŧκ	ADMUELS R T	D 0	PENING UN	FEPRICE.		130PM	ANDUNT	
! 	PENING	DATE ITHIN	FOURTE	ADDEN:	DUM SI	KOULD B	ER	ece Ive:	D BY T	D HE			
E 1 3 8	BIDDERS DIVISIO THAT A SHALL A EXCEPTI SOLE PU	AND N. PPLY LSO A DN MA	HA ADNA IMBUS S HT OT OT Y Y S OF CHA	TTED AME OR E OR AN AT	TO RULES IGINA! DDEND! ADDEN!	THE ST AND BIDD IM DOCU DUM THA	ATE REG ING MEN T	PURC ULATION DOCUM T. THE S ISSU	HASING NS ENT E ONLY ED FOR	•			
R	ATE. REV. 11												
			NOWLEDG	EMENT									
۵	DDENDU	M(S)	NOWLEDG And hav Plans	E MADI	E THE	NECESS	ARY	REVIS	CHECK IONS T	O ED			
	ADDEÄDU 10. 1	м моs		09	• •			NO. 6	12/	ולרול	29		
	10. 2	•	12/04	1091. 109	• •								
	10. 3	•	12/09/	09									
N	(0. 5		19-1)1	(O9		TERMS AND	COND	TIONS					
SIGNATURE (L.A.	- <i>/</i>	Single State (State (St	8. (20. (20. (20. (20. (20. (20. (20. (20	· 阿克·尔克·克尔克	TO STATE OF	TELEPHONE 30	-	38-33		CLATE	2/29/	OI	
and the	15/4	IFE	IN DO 1	100	<u>-a</u>	701	1-4					TED ABOVE	
TITLE Presider	rt	i	- 19th - 1	0100	77	5 ABS 57	00.11	1					
WHE	N RESPO	NDING 1	a RFQ, IN	SERT N	AME AN	D ADORE	22 11	SPACE	YOUVE L	MOCLE	D AEIAD	Un.	



>hzoog

RFQ COPY

TYPE NAME/ADDRESS HERE

Lengan Gerieral Contracting Corp. Rt. 1 Box 94, Cumberland Street East Wiley Ford, WV 28787

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation DEFK10007

DEFK10007

表現の対しては、1997年1月1日には、1997年1月1日(日本日本)には、1997年1月1日(1997年1月1日) TTORRA NHOL 304-558-2544

DIV ENGINEERING & FACILITIES NATIONAL GUARD ARMORY 142 ROBERT E. LEE EXT.

ELKINS, WV

		•		20241	241-0200	
DATERRIO		PERMA OF FALE	SHIEAR		O.B. FREIG	H-76 IN VISIO
11/04		* /2000	DIF	OPENING	TIME 01:30PM	
LINE	QUANTTY	Age 80 p. p.	EN MUMBER	en la sercección comincion	ያቸው ያቸው ነ ያቸው ከተከነፉ የተመረሰው የሚያስከተለው የተመሰው የተመሰው የተመሰው የተመሰው የመጀመር መስ	σ Ου π
,	T INDEDCTA	ND THAT FAILURE TO	CONFIRM	THE BECE!	PT OF THE	
i i		MAY BE CAUSE FOR				
;	REPRESENTATIONAL DISCUS	CLEARLY UNDERSTA	IED TO BE I VENDOR'S IOT BINDIN	MADE DURI REPRESEN G. ONLY	NG ANY ITATIVES THE	*
		I ISSUED IN WRITIN				
	Stere	Shange	٠, ١	IGNATURE		
	Langan	Jalog	ractingle	OMPANY ATE		
	REV. 11/96		,,,,,,,,			
		CONTRACTORS L	ICENSE			
•	PERSONS DES		CONTRACTI WEST VIR	NG WORK I GINIA CON	N THIS TRACTORS	
	LICENSE. A	DARD IS EMPOWERED REPLICATIONS FOR A	. CONTRACT VIRGINIA	ORS LICEN Division	SE MAY BE Of Labor	
	25305. TEL	PLEX, BUILDING 3, EPHONE: (304) 558	-7890.			
	PROSPECTIVE	BIDDER TO INCLUDIBER ON THEIR BID.	E THE CON	UIRES ANY Tractors		
INATURE DE	- Un B	PER REVERSE SIDE		NOTIONS: 33	PATE 12/29/	na
- BU	A Com Pay	PAN 20-11-12-1 5-0			RESS CHANGES TO BE NOTE	
Preside	OR AL	TO RFQ, INSERT NAME /	AND ADDRESS	4		



RFQ COPY

TYPE NAME/ADDRESS HERE

Lengen General Contracting Corp. Rt. 1 Sox 84, Cumberland Street East Wiley Ford, WV 26767

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for DEFK10007

DEFKIDOUT

SEES ADD SEES CONTRACTOR CONTRACTOR SEES CON JOHN ABBOTT 304-558-2544

DIV ENGINEERING & FACILITIES NATIONAL GUARD ARMORY 142 ROBERT E. LEE EXT.

ELKINS, WV 26241

341-6368

	(3000	TERMS OF SALE	9HIAVA	BPB (III)	FREICHTTERMS
11/04/ BID OPENING DATE		/10/2009	BID	OPENING TIME 01	130PM
LINE	S QUANTIT		LEW NUMBER	UNIT RAICE	AMOUNT
	BIDDER T	O COMPLETE:		0.0	Cons
	CONTRACT	ORS NAME:	angan Geneva	el Contracting	corp.
<u> </u> 		DRS LICENSE NO			To the state of th
	COPY OF	ESSFUL BIDDER THEIR CONTRACT SE DRDER/CONTR	WILL BE REQUIRED TORS LICENSE PRIO ACT	TO FURNISH A R TO ISSUANCE OF	
		AF	PLICABLE LAW		
	AND REGU THE "REQ	LATIONS, AND T UEST FOR QUOTA IS THE SOLE A	E CODE, PURCHASI HE INFORMATION P TION" ISSUED BY UTHORITY GOVERNI	THE PURCHASING	
	ANY OTHE	R SOURCE, VERE S THE INFORMAT	ED IN SPECIFICAT BAL OR WRITTEN, W ION PROVIDED FRO PARAGRAPH IS VD	HICH CONTRADICTS M THE SOURCES AS	
	FOR BANK	RUPTCY PROTECT	FOR THE VENDOR/C TION, THE STATE M I, AND TERMINATE	AY DEEM THE	
	REV. 5/2	009			
	A SIGNED	BID MUST BE S	TICE UBMITTED TO:		
P/ZNATURE (C)		95€ AC	VERSE BIDE FOR TERMS AND CO	DATE	1-128/02
SKINATURE	he of	7 Penga	TELEPHONE	138-3300	12/29/09
TITLE Preside	rul	FEIN 20-161	2658		TO BE NOTED ABOVE
WH	EN RESPON	DING TO RFQ, INSEF	RT NAME AND ADDRESS	IN SPACE ABOVE LABELE	O AFNDOK.



RFQ COPY

TYPE NAME/ADDRESS HERE

Langan General Contracting Corp. Rt. 1 Box 84, Cumberland Street East Wiley Ford, WV 28767

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation DEFK10007

DEFK10007

TTOESA NHOU 304-558-2544

DIV ENGINEERING & FACILITIES NATIONAL GUARD ARMORY 142 ROBERT E. LEE EXT.

ELKINS, WV 26241

341-6368

	:			
	EFMS OF SALE	SHIFLVIA	F.O.B.	FREICHTSTEAKS
11/04/2009 BID OPENING DATE: 12/10	/2009	RID	OPENING TIME 01	130PM
ane CUANTITY	LOR PAT	REMUNABR	UNITRACE	AMOUNT
PURCHA BUILDI 2019 W	MENT OF ADMISING DIVISION STEEL ASHINGTON STEEL STON, WV 25:	N Reet, East		
THE BID SHO THE ENVELOP SEALED BID	ULD CONTAIN .	THIS INFORMATION MAY NOT BE CON	N ON THE FACE OF SIDERED:	
BUYER:		E) TTOBBA NHOL	2)	
REQ. NO.:		DEFK10007		
BID OPENING	DATE	15/10/5003	al ber men men mer en	
BID OPENING	TIME:	1:30 PM	The same was the same time that the place that the place that the place that the same time the same time that the same time the same time time the same time time time time time time time ti	
	YOU REGARDING	MBER IN CASE IT SYOUR BID:		
PLEASE PRIN CONCERNING	THIS QUOTE:	ANGAN	CONTACT	
		J		
	S S S S S S S S S S S S S S S S S S S	re side for teams and con Iteléphone. I	ONIONS IDAYS	7 / 2 (00)
STEW Brund her		304	130-3300 1	0727/09
resident	FEIN 20-1612	658	Address Changes	TO BE NOTED ABOVE

WHEN RESPONDING TO HFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

ļ

TEO AL		 23
RFQ No		20

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

VENDOR OWNG A DEBT TO THE STATE:

West Virginia Code §5A-3-10a provides that: No contract or renewal of any contract may be awarded by the state of any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

PUBLIC IMPROVEMENT CONTRACTS & DRUG-FREE WORKPLACE ACT:

If this is a solicitation for a public improvement construction contract, the vendor, by its signature below, affirms that it has a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Gode. The vendor must make said affirmation with its bid submission. Further, public improvement construction contract may not be awarded to a vendor who does not have a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code and who has not submitted that plan to the appropriate contracting authority in timely fashion. For a vendor who is a subcontractor, compliance with Section 5, Article 1D, Chapter 21 of the West Virginia Code may take place before their work on the public improvement is begun.

ANTITRUST:

In submitting a bid to any agency for the state of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the state of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the state of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the state of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, ilmited liability company, partnership or person or entity submitting a bid for the same materials, supplies, equipment or services and is in all respects fair and without collusion or fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entitles.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/notice/Confidentiality.pdf.

Under penalty of law for false swear	ing (West Virginia Code	§61-5-3), it is hereby certified	d that the varidor
affirms and acknowledges the information	ition in this affidavit and is I		
Langan General C			•
Vendor's Name: Wiley Ford WV 2	berland Street East 6767		
Authorized Signature:	m for	Date: 12/29/09	
Purchasing Affidavit (Revised 01/01/09)	70-7-	, , ,	

24



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-10-5

STATE OF West Vivginia
COUNTY OF Mineral TO-WIT:
I, Steven M. Langan, after being first duly sworn, depose and state as follows:
1. I am an employee of Langan G.C. Corp.; and, (Company Name)
2. I do hereby attest that Laugan G.C.Corp. (Company Name)
maintains a valid written drug free workplace policy and that such policy is in compliance with West Virginia Code §21-1D-5.
The above statements are sworn to under the penalty of perjury. Langan General Contracting Corp. (Company Name) By: By:
Title: Trasident
Date: 18 109 December.
3x Commission expires (Lug 5, 2012
NOTATY PUBLIC STATE OF WEST VIRGINIA SHERRY A. STRIETBECK S & B BLECTRIC CO. BDX 201, RT.3 RDGGLEV, WV. 26793 (Notary Public)
COMPLY WITH THE BID SHALL RESULT IN DISQUALIFICATION OF
THE BID. Rev March 2009

•				
			Agency REQ P O#	26
	BID BO	OND	•	
	E PRESENTS, That we, the unde	oteigned,	neral Contract	
of Rt. 1.Box 84.	Cumberland, E. Wiley	Ford, Wyas Principal, a	and <u>Hartford</u> F	<u>ire Insurance</u>
	nnecticut a cor			
	fice in the City of Hartford			
of West Virginia, as Obligee, in the pe well and buly to be made, we jointly a		- · · · · · · · · · · · · · · · · · · ·	, ,	
Mail gun agil on he liideal de lainil a	and severally outd odiselves' ont	neva, administratore, axao	ulore, suggossore and a	eន្យជា ១ ,
	obligation is such that whereas th			
Department of Administration a certain Elkins Armed Forces	n bid or propossi, stached horde s Readiness Center (o and made e parl hereof, (AFRC)	to enter into a contract in	n writing for
NOW THEREFORE, (a) If said bid shall be reject	ed, or ipd and the Principal shall enter			September 1
egreement created by the acceptance force and effect. It is expressly unders exceed the penal emount of this obliga The Surety, for the value receway impaired or offected by any extension.	ilood and agreed that the liability silon as herein stated. sivad, hereby silouleles and sore	of the Surety for any and a	all claims herounder she ald Surety and its hond	ehall be in no
IN WITNESS WHEREOF, Pri	nolpal and Surely have hereunto	set their hands and seals,	and such of them as an	e corporations
have caused their corporate seals to be				•
22nd day ofDecember			•	
ringipal Corporate Seal		LANGAN GE	NERAL CONTRACT	ETNG CORP.
The state of the s		<i>V</i> \	(Name of Principal)	,,
H Stage Car		By Stem	25 Lu	
		7.—	(Musi be President or	***************************************
	•	~	Vice President)	
		Presid	CONT	
The second secon		manusana E	(Tille)	COMPANY.
unely Corporate Seal		HARTPORD P	TIRE INSURANCE	COMPANI
San			(Name of Surely)	
7. The state of th		150	11/1/1/	7 Fab 2
		1/(11	KUKU	<u></u>
		Prian E. M	Altomey-In-Fact IcCloskey	2120.2
MPORTANT — Surely executing bond	s must be licensed in West Vi	rginia to transact surety	Insuranco. Ralend cor	porato sesis
nust be affixed, a power of attorney n	nust be attached.	•		F 5
	tw Bon	ddent Coumtowala	matuma	

1. 11.

POWER OF ATTORNEY

Direct inquiries/Claims to:

THE HARTFORD

P.O. BOX 2103, 690 ASYLUM AVENUE HARTFORD, CONNECTICUT 06415

KNO	M.ALL F	PERSONS BY THESE PRESENTS THAT: Agency Code: 30-720164, 30-720739, 30-721628, 42-64060	
	X	Hartford Fire insurance Company, a corporation duly organized under the laws of the State of Connection	-
	×	I Martiord Casualty Insurance Company, a corporation duly organized under the laws of the State of Indiana	
	X	I Harriord Accident and Indemnity Company, a corporation duly organized under the laws of the State of Companion	,
•		Antiora underwriters insurance Company, a corporation duly organized under the laws of the State of Connecticut	
		I will City Fire insurance Company, a corporation duly organized under the laws of the State of Indiana	
	<u></u>	Hartford Insurance Company of Illinots, a corporation duly organized under the laws of the State of Illinots	
	<u></u>	marriord insurance Company of the Midwest, a corporation fully organized under the laws of the State of Indiana	
		Hartford Insurance Company of the Southeast, a corporation duly organized under the laws of the State of Florida	

having their home office in Hartford, Connecticut, (hereinafter collectively referred to as the "Companies") do hereby make, constitute and appoint, up to the amount of unlimited:

Brian E. McClaskey, Michael A. Fetchero, Page T. Shanklin Sr., Jay Bateson, Mary Kay Adwell, Mary E. Oleskey, Edward R. Seward, Alice C. Herman, Kathleen A. Wos, H. Glenn Twigg, Michael A. Mayers, Craig E. Wengerd, Carol A. Uediski, George L. Marshell, David B. Arnold, Sandra E. Squillerlo of Johnstown, PA, Columbia/Cumberland, MD and Fairfax, VA

their true and lawful Attorney(s)-in-Fact, each in their separate capacity if more than one is named above, to sign its name as surety(les) only as delineated above by and to execute, sest and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

In Witness Whereof, and as authorized by a Resolution of the Board of Directors of the Companies on January 22, 2004 the Companies have caused these presents to be signed by its Assistant Vice President and its corporate seals to be hereto affixed, duly attested by its Assistant Secretary. Further, pursuant to Resolution of the Board of Directors of the Companies, the Companies hereby unambiguously affirm that they are and will be bound by any mechanically applied signatures applied to this Power of Attorney.



Paul A. Bergenholtz, Assistant Secretary

M Ross Fisher, Assistant Vice President

STATE OF CONNECTICUT

COUNTY OF HARTFORD

ij,

ss. Hartford

On this 1st day of February, 2004, before me personally came M. Ross Fisher, to me known, who being by me duly sworn, did depose and say: that he resides in the County of Hartford, State of Connecticut; that he is the Assistant Vice President of the Companies, the corporations described in and which executed the above instrument; that he knows the seals of the said corporations; that the seals affixed to the said name thereto by like authority.



Scott E. Peseka Notary Public My Commission Sapires October 31, 2012

I, the undersigned, Assistant Vice President of the Companies, DO HEREBY CERTIFY that the above and foregoing is a true and companies by of the Power of Attorney executed by said Companies, which is still in full force effective as of 22nd day of December 2009.



Gary W. Stumper, Assistant Vice President





Route 1 Box 84 Cumberland St. East Wiley Ford, WV 26767 304.738,3300

Fax: 304 738.3384

FAX

10:	JOHN ACCOU		•
Componyi	West Virginia Purchasing Division		
Fox Number:	304-558-3970	<u> </u>	
From:	Steve Langan, Project Manager		,
Date:	December 29, 2009	. 1	
No. of Pages:	7		
Regarding:	DEFK1007-Elkins AFRC		
المعتاد ألمان الأمانية		NA NA CONTRACTOR	1

Urgent

Comments:

Attached please find the following paperwork for the above referenced project:

Bid form as revised in Addendum #6

All other paperwork was faxed at 10:15 AM this morning

If you have any questions regarding this portion of paperwork, please contact us at 304-738-3300.

Thank you, Steve Langan

This fax may contain personal and/or confidential informati

...

ELKINS ARCHITECTURAL BID ITEMS

12 Primary AFRC Building 1 LS 12,630,000:00 12,1000.00 12,630,000:00 12,630,	NO.	ITEM	QŤY	AREA	TOTAL AREA		EXTENDED PRICE
18.1 Mobilization/Demobilization 1 LS 150,000,00 10 1 12 150,000,00 10 1 13.3 Quality Control 1 LS 100,000,00 18.4 WVDOHY Encreachment Permit(s) 1 LS Allowance 20,000,00 15 Workshop 1 LS 800,000,00 16 Unheated Storage Building 1 LS 210,000,00 210,000,00 210,000,00 200,000 2	BID No. 1-A	AFRC BUILDING	:				
1a.1 Mobilization/Demobilization 1 LS 150,000,00 10 1a.2 General Construction Admin 1 LS 250,000,00 100,000,00	1a	Primary AFRC Building	1	LS			
1a.2 General Construction Admin 1 LS 250,000.00 1a.3 Quality Control 1 LS 100,000.00 1a.4 WVDOHY Encreachment Permit(s) 1 LS Allowance 20,000.00 1b Workshop 1 LS 800,000.00 1c Unheated Storage Building 1 LS 210,000.00		Mobilization/Demobilization	1	LS			150,000.00
1a.3 Quality Control 1 LS 100,000:00 1g.4 WVDOHY Encreachment Permit(s) 1 LS Allowance 20,000:00 1b Workshop 1 LS 800,000:00 1c Unheated Storage Building 1 LS 210,000:00		General Construction Admin	1	LS	<u> </u>		250,000.00
18.4 WVDOHY Encreachment Permit(s) 1 LS Allowance 20,000.00		Quality Control	1	LS			100,000.00
1b Workshop 1 LS 800,600,00 1c Unheated Storage Building 1 LS 210,000,00		WVDOHY Encroachment Permit	(s) 1			Allowance	20,000.00
	<u> </u>	Workshop	1	LS		· 	800,000,00
ARCHITECTURAL BASE BID TOTAL TOTAL 14,160,000,000	<u>1c</u>	Unheated Storage Building	1	LS	,	- -	210,000.00
ARCHITECTURAL BASE BID TOTAL TOTAL 14,160,000.60		;	-			-	
ARCHITECTURAL BASE BID TOTAL TOTAL 14,160,000,00		Marie Company			14 14 1		and the second second
		ARCHITECTURAL BASE BID TO)TÄL			TOTAL	14,160,000,00

ELKINS CIVIL BID ITEMS

ŊO.	ITEM	QTY	UNIT	UNIT PRICE	extended Price
SITE PREF	PARATION	7			ا الله الله الله الله الله الله الله ال
1	Site Preparation	1.,	LS	38,250.00	38,250.00
2	Sediment and Erosion Control	1	LS	75,000.00	75,000.00
<i>EARTHWO</i>	PRK				
3	Unclassified Excavation	90,000	CY	4.75	427,500,00
4	Rock Excavation	25,000	ĊY.	8.30	207,500.00
Ś	Subgrade Preparation	15,000	SY	4.00	60,000.00
6	Soil Drying	100	TN	150.00	13,000.00
7	Soil Conditioning	2:000	ŚY	4.65	4,650.00
8	Over-Excayation	1,000	SY	30.00	30,000.00
- 0	6" Subsurface Drains	2,200	LF	15.00	33,000.00
10	Type I Lawn	1	LS	52,000.00	52,000.00
6 7 8 9 10	Type III General Seeding	1.3	LS	20,000.00	20,000.00
ROADS			:		in the state of th
12	6" Concrete Paving	3,500	SY	58.00	203,000.00
	: •			:	

SECTION 0100 - BID FORM - Revision_c (12-18-09)

13	HMA Wearing Course	1,150	TN	70.00	, 80,500.00
14	HMA Base Course	4,700	TN	61,00	286,700.00
15	Free Draining Base	4,000	TN	47.00	188,000 00
	Free Draining Base Trench and				
16	Piping	5,400	LF	23.10	124,740.00
17	Fabric, Woven	7,700	SY	4.50	34,650.00
18	Fabric Separation	17,600	ΪŜΥ	1.75	30,800.00
1.9	AASHTO#1	5,200	TN	18.30	95,160.00
20	Class 1 Stone	3,000	TN	18.30	54,900.00
21	Guardrail	2,500	LF	13.75	34,375.00
22	Wheel Stops	100	EA	76.70	7,670.00
23	Concrete Curbing	1,300	LF	37.30	48,490.00
24	Pavement Marking	1	LS	9,700.00	9,700.00
$\frac{27}{25}$	Signage	1	ĹS	6,000.00	6,000.00
<u>. 255</u>					
i eideleise er 20		:	:	*	
MISCELLA		4.000	637	57.00	72,960.00
<u> 26</u>	Concrete Sidewalk	1,280	SY	245.00	22,050.00
	Cobblestone Pavers	90	<u> </u>	556.00	19,450.00
28	Concrete Wall	35	LF	72.00	48,960.00
29	Rock Wall	680	LP		
3,0	30' Porce Protection Gate	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	EA .	47,128.00	47,128.00
31	24' Sliding Gates	2	<u>EA</u>	4,686.00	9,372.00
32	16' Swing Gates	4	<u>EA</u>	1,254.00	5,016.00
33	Security Fencing	1,600	LF	20.30	32,480.00
34	Field Fencing	210	<u>LF</u>	9.60	2,016.00
35 36	Bollards 8"	30	<u>EA</u>	750.00	22,500.00
<u> 36</u>	Bollards 12"		EA	1,000.00	17,000.00
37	Bollards Removeable	2	<u>EA</u>	1,500.00	3,000,00
38	40' Flagpole	Z	<u>EA</u>	2,838.00	5,676.00
<u> 39</u>	Volicle Wash System	$\frac{1}{2}$	LS	30,000.00	30,000.00
40	Fuel Truck Containment Pad	<u> </u>	<u>LS</u>	30,000,00	30,000.00
41	Oil/Water Separator		EA	60,000.00	60,000.00
42	Loading Ramp	1	<u>LS</u>	105,000.00	105,000,00
43	Transformer Pad	1	<u>EA</u>	1,300.00	1,300,00
44.	Equipment Pad	<u>2</u>	<u>EA</u>	2,000.00	4,000.00
	e - 16-4		9.1		
WATER		·			
45	2" PVC Water	110	LE	.19.00	2,090.00
	3" PVC Water	300	LP	21.00	6,300.00
47	4" PVC Water	160	LF	34.00	5,440.00
46 47 48 49 50	6" PVC Water	750	LF	26.00	19,500.00
49	6" DIP Water	120	LÉ	47.00	5,640.00
50	8" PVC Water	1,400	LF	23.00	32,200.00
	• •			1	

						أ فرفي عليه الر
<u>51</u>	8" DIP Water	40	LF	32.00		1,280,00
52	PIV	2.	<u>EA</u>	2,300.00	· <u>~</u>	4,600:00
53	Fire Hydrant	4	<u>ĒA</u>	3,500.00	_	14,000.00
54	Water Vault	1	<u>EA</u>	23,000.00		23,000,00
_			: :			
SEWER						
<u>.55</u>	Manholes, Sanitary Sewer	52	<u>VF</u>	370.00	<u>-</u>	19,240.00
<u>56</u>	Frame and Cover, Sanitary Sewer	- 8.	<u>EA</u>	200.00		1,500.00
57	6" PVC Sanitary Sewer	840	LF	21.00	<u> </u>	17,640.00
58	8" PVC Sanitary Sewer	1,000	LF.	26.00	<u>-</u>	26,000.00
59	Cleanout, Sanitary Sewer	10	EA	450.00	_	4,500:00
STORM DRA	AINAGE					
60	6" PVC Storm	1,200	LP	17.00	<u></u>	20,400.00
61	8" PVC Storm	700	LF	19.00	_	13,300.00
62	12" PVC Storm	450	<u> </u>	25.00	.	11,250.00
63	15" PVC Storm	250	ĹF	30.00	_	7,500.00
64	12" HDPE Storm	200	LF	24.00	, -	4,800.00
65	18" HDPE Storm	1,250	LF	40.00	·-	50,000.00
66	24" HDPE Storm	500	LP .	50.00		25,000:00
67	Type 1 Ditch	1,200	LP	50.00	· · · · · · · · · · · · · · · · · · ·	60,000 00
68	Type 2 Ditch	500	LF	50.00	<u>:</u>	25,000.00
. 69	Type 3 Ditch	1,000	LF	22.50	:	22,500,00
70	Type 4 Ditch	2,200	<u>le</u>	5.00	· .	11,000.00
71	Junction Box	2	EA	2,000.00	•	4,000.00
72	Type "B" Drop Enlets	17	EÁ	1,500.00	· · · · · · · · · · · · · · · · · · ·	25,500.00
73	Type "B" Inlet Grate and Frame	17	EA	550.00	-	9,350,00
74	10" Yard Drains	. 5	EA	430.00	_	2,150.00
75	12" In-Line Inlets	4.	EA	400.00	. <u>_</u>	1,600.00
76	Trench Drain and Grate	30	LF	240.00		7,200.00
77	Concrete Headwalls	4	EA .	1,200.00		4,800,00
	CIVIL BASE BID TOTAL		TOPIC STORY Services (ASS)		TOTAL	3,193,883.00
***************************************	TOTAL OF BASE BID				TOTAL	17,353,889,00
11 21				1.1.1		

ELKINS ARCHITECTURAL BID ITEMS - ALTERNATIVES

A-1 ALTERN	ATE BID ITEM - Broadloom roll-	good carpet in (Open Office	in Iteu of Carpe	i Tile	
a	Costing Deduction		SY			(2,100,00)
			<u> </u>	4 4		
A-3 ALTERNATE BID ITEM - Reduction of Unheated Storage from 2700 Sq. Ft. to 2490 Sq. Ft. a Costing Deduction 210 SF -20.00 (4.206.0) A-4 ALTERNATE BID ITEM - Replace External Stone with Oversteed Brick a Costing Deduction LS (50,000.0) A-5 ALTERNATE RID ITEM - Provide costing for providing Fire Extinguishers a Cost Addition LS 4,900.0 A-6 ALTERNATE BID ITEM - Provide costing for providing Fiberglass Doors in then of Hollow Metal doors a Cost Addition Rems #2, 11, 14, a 17, 21, 30, 35, 37 LS 20,000.00 A-8 ALTERNATE BID ITEM - Provide costing for Bunners						
_						0.00
						The second the Section &
	SAGON DED TOWNS TO BE SEED ACTION	· · · · · · · · · · · · · · · · · · ·	Oca - 2700 C	Pa Et to 2/00 S	i Te	
A-S ALIBRI		A. Carlotte and Car			ų. FL	(4.206.00)
<u>_</u>	Cosmill Degregory		<u> </u>	-20,00	: :	(4,200,00)
-						<u> </u>
A-4 ALTERN	ATE BID ITEM - Replace Externa	il Stone with Ov	ersized Brici	t .	·	
. a	Costing Deduction		LS .	1	•	(50,000,00)
						1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
4.5.41.7800	JATE BILL TIEM - Browled costing	fav providing Fi	eo Freinbuls	hovs		The second secon
		ior Evolution 1	T S	,,,,,,,		4.000.00
<u> </u>	COST ADDITION			1 }		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
						
A-6 ALTERN		for providing Fi	berglass Do	ors in theu of H	illow Metal door	
a	Cost Addition					27,000.00
	العربية بالدراك والعرب العربية المنظمة المناسبة المنظمة المنظمة المنظمة المنظمة المنظمة المنظمة المنظمة المنظمة	منوان أخرون وأراد الما	en area e	hal. Chia		
A-7 ALTERN		for additional K	uchen Kqui	ment		
		:	T 5		v.	00.000.00
			LS,		ATT CONTANION	
ъ	Items #33, 49, 55, 56, 58, 59	•	,	•	ALLOWAIICE	30,000.09
		Same Barbara	·			
A-8 ALTERN		for Bunners	·			23,800,00
а	Cost Addition		<u>LS</u>			25,800,00
		and the same		770		u <u>1949 de 2 delegaçõe (4).</u> 1 7 d <i>a 20</i> 20 20 10 de
	TOTAL OF ARCHITECT	UKAL ALI	TICNATIO	AF2	TOTAL	68,500.00
				•	_	
				erienienienienienienienienienienienienieni	1915) (c)	
	ELKINS CIV	TE RID II.	eivis - A	LIERNA	CES	
and the second s	BID ITEM #1 - Military Equipme	nt .		•	:	
Parking Expe		1, 1, 1	• = = = =	7.00		
5	Subgrade Preparation	2,100	SY	3.00		6,300,00
	Free Draining Base Trench and		·	15.00		
16	Piping	200	LF	15.00	•	3,000,00
17	Fabric, Woven	2,100	SÝ	5.00		10,500.00
20 33	AASHTO #1	1,500	TN	23.00		34,560.00
<u>20</u>	Class 1 Stone	375	TN	23.00		8,625.00
. 33	Security Fencing	200	<u>LF</u>	33.00		6,600.00
				: '	ATT TOTAL	المنافرة والمنافرة المنافرة ال
					SUB-TOTAL	69,525.00

6" Concrete Paving 5,300 SY 60,00 Free Draining Base 1,250 TN 48.00 Fabric Separation 5,300 SY 2.00 Fabric Separation 5,300 SY 1.00 AASHTO #1 (Deduct) 3,760 TN 8.00 Fall ITEM #3 - Overflow Parking Area 6" Concrete Paving 90 SY 60.00 HMA Wearing Course #50 TN 70.00 HMA Base Course 880 TN 55.00 Free Draining Base 1,230 TN 50.00 Free Draining Base 1,230 TN 50.00 Free Draining Base Trench and Prining 520 LF 16.00 Fabric Separation 5,200 SY 1.25 Class 1 Stone 920 TN 21.00 Favement Marking 1 LS 17,000.00 Favement Marking 1 LS 17,000.00 SUB-TOTAL 214,540.00 Figurage 1 LS 17,000.00 SUB-TOTAL 214,540.00 Figurage 1 LS 17,000.00 SUB-TOTAL 35,000.00 SUB-TOTAL 35,000.00 SUB-TOTAL 35,000.00 SUB-TOTAL 35,000.00 SUB-TOTAL 35,000.00 SUB-TOTAL 228,000.00		TE BID ITEM #2 - Military Equipm	sent	; ;			
Free Draining Base	_	ncrete Paying			60.00		200000
Fabric Separation 5,300 SY 2.00 10,600,000 Fabric, Woven (Deduct) 5,300 SY 1.00 (5,300,000 AASHTO #1 (Deduct) -3,760 TN 8.00 SUB-TOTAL SUB-TOTAL 353,220.00 Fabric Separation 50 SY 60.00 SUB-TOTAL Fabric Separation 50 SY 60.00 SUB-TOTAL Fabric Separation 5,200 TN 70.00 21,500.00 Free Draining Base 1,230 TN 55.00 48,400.00 Free Draining Base Trench and Piping 520 LF 16.00 8,320.00 Fabric Separation 5,200 SY 1.25 6,500.00 Fabric Separation 5,200 SY 1.25 6,500.00 Favement Marking 1 LS 17,000.00 17,000.00 Signage 1 LS 17,000.00 17,000.00 Signage 1 LS 17,000.00 SUB-TOTAL SBD ITEM #4 - Fuel Truck Fad Tuck Fad Fac Tuck Fa	12					=	1.1 7 . 1 1 15 1777
Fabric Woven (Deduct) -5,300 SY 1.00 (5,300,00	15					<u>.</u>	
AASHTO #1 (Deduct) -3,766 TN 8.00 (30,080.00 SUB-TOTAL 353,220.00 SUB-TO	18_					_	. , . ,
### SUB-TOTAL	17		-5,300			· · · · · · · · · · · · · · · · · · ·	1.5 1.000.00
6" Concrete Paving: 90 SY 60.00 5,400.00 HMA Wearing Course 450 TN 70.00 21,500.00 HMA Base Course 880 TN 55.00 48,400.00 Free Draining Base 1,230 TN 50.00 Free Draining Base Trench and Piping 520 LF 16.00 Fabric Separation 5,200 SY 1.25 Class 1 Stone 920 TN 21.00 Pavement Marking 1 LS 17,000.00 Signage 1 LS 17,000.00 SUB-TOTAL 214,540.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 228,000.00 SUB-TOTAL 228,000.00	19	AASHTO #1 (Deduct)	-3,760	ŤŇ	8,00	. <u> </u>	
6" Concrete Paving 90 SY 60.00 5,400.00 HMA Wearing Course #50 TN 70.00 21,500.00 HMA Base Course 880 TN 55.00 48,400.00 Free Draining Base 1,230 TN 50.00 61,500.00 Free Draining Base Trench and Piping 520 LF 16.00 8,320.00 Fabric Separation 5,200 SY 1.25 6,500.00 Class 1 Stone 920 TN 21.00 19,320.00 Pavement Marking 1 LS 17,000.00 Signage 1 LS 17,000.00 SUB-TOTAL 214,940.00 SUB-TOTAL 35,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 228,000.00 SUB-TOTAL 228,000.00						SUB-TOTAL _	353,220:0
HMA Wearing Course	LTERNAT	TE AID ITEM #3 - Overflow Parkin	ig Area	ŧ			
HMA Base Course 880 TN 55.00 48,400.00	12	6" Concrete Paving	90	ŞY	60.00	_	5,400.00
Free Draining Base 1,230 TN 50.00 61,506.00 Free Draining Base Trench and Piping 520 LF 16.00 8,320.00 Fabric Separation 5,200 SY 1.25 6,500.00 Class 1 Stone 920 TN 21.00 19,320.00 Payement Marking 1 LS 17,000.00 17,000.00 Signage 1 LS 17,000.00 SUB-TOTAL 214,540.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 28,000.00	13	HMA Wearing Course	450	TN	70.00	<u>-</u>	31,500.0
Free Draining Base	14	HMA Base Course	.880	TN	55.00	<u>.</u>	48,400.0
Piping 520 LF 16.00 8,320.0 Pabric Separation 5,200 SY 1.25 6,500.9 Class 1 Stone 920 TN 21.00 19,320.0 Payement Marking 1 LS 17,000.00 17,000.0 Signage 1 LS 17,000.00 17,000.0 SUB-TOTAL 214,940.0 SUB-TOTAL 45,000.0 SUB-TOTAL 45,000.0 SUB-TOTAL 45,000.0 SUB-TOTAL 28,000.0	15	Free Draining Base	1,230	———	50.00	· 	61,500.0
Fabric Separation 5,200 SY 1.25 6,500.9 Class 1 Stone 920 TN 21.00 19,320.0 Payement Marking 1 LS 17,000.00 17,000.0 Signage 1 LS 17,000.00 SUB-TOTAL 214,940.0 SBID ITEM #4 - Fuel Truck Pad	•	Free Draining Base Trench and				•	
Fabric Separation 5,200 SY 1.25 5,500.0	16	Piping	520	LF.	16.00	• <u>•</u>	8,320.0
Class 1 Stone 920 TN 21.00 19,320.0 Payement Marking 1 LS 17,000.00 17,000.00 Signage 1 LS 17,000.00 SUB-TOTAL 214,540.0 SBID FTEM #4 - First Truck Pad Fuel Truck Containment Pad 1 LS 45,000.00 SUB-TOTAL 45,000.0 SBID ITEM #5 - Frencing and Fencing/Gate Upgrade 1 LS 28,000.00 SUB-TOTAL 28,000.0	18	Fabric Separation	5,200	SY	1.25		6,500.0
Signage 1 LS 17,000.00 17,000.00 SUB-TOTAL 214,940.00 SUB-TOTAL 214,940.00 SUB-TOTAL 214,940.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 28,000.00 SUB-TOTAL 38,000.00 SUB-TO	20.	Class 1 Stone		TN	21.00	_	19,320.0
SUB-TOTAL 214,940.65 214,940	24	Payement Marking	1 :	LS	17,000.00		17,000.0
### BID FTEM ## - Fuel Truck Pad Fuel Truck Containment Pad 1 LS 45,000.00 SUB-TOTAL 45,000.00 Fencing/Gate Upgrade 1 LS 28,000.00 SUB-TOTAL 28,000.00	25	Signage	\mathbf{l}_{x}	LS	17,000.00		17,000.0
Pad Fuel Track Containment Pad 1 LS 45,000.00 5UB-TOTAL 45,000.0 S BID ITEM #5 - Fencing and 1 LS 28,000.00 28,000.0 Fencing/Gate Upgrade 1 LS 28,000.00 SUB-TOTAL 28,000.0	<u> </u>	:: '				SUB-TOTAL	214,9400
Fuel Truck Containment Pad 1 LS 45,000.00 SUB-TOTAL 45,000.00 SUB-TOTAL 45,000.00 Fencing/Gate Upgrade 1 LS 28,000.00 SUB-TOTAL 28,000.0	LTERNAT	TE BID ITEM #4 - Fuel Truck	*			.` -	
SUB-TOTAL 45,000,0 SHID ITEM #5 - Fencing and Fencing/Gate Upgrade 1 LS 28,000.00 SUB-TOTAL 28,000.0	ntalrimen		:				ing the second second
### ##################################	4.0	Fuel Truck Contamment Pad	1.	LS	45,000.00	=	
Fencing/Gate Upgrade 1 LS 28,000.00 28,000.0 SUB-TOTAL 28,000.0		; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;			:	SUB-TOTAL	45,000,0
Fencing/Gate Upgrade 1 LS 28,000.00 28,000.00 SUB-TOTAL 28,000.00	TERNAT	TE BID ITEM #5 - Frenchig and	; :				
SUB-TOTAL 28,000.0	ete Upgrae						
and the second of the second o	78	Fencing/Gate Upgrade	1	L\$	28,000 00	T	
		:			:	SUB-TOTAL _	28,000.0
TOTAL OF CIVIL ALTERNATIVES TOTAL 710	· ·					TOTAL	

E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition E-5 ALTERNATE BID ITEM - Solar-powered signage lighting a Cost Addition E-6 ALTERNATE BID ITEM - Lightning Protection System a Cost Addition LS 42,000:	TOTA	AL OF ARCHITE	CTURAL/CIV	L'AND ELECTR	ical alter F base bid (inatives	SUB-TOTAL SUB-TOTAL	1,178,685.00 17,353,883.00
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition E-5 ALTERNATE BID ITEM - Solar-powered signage lighting A Cost Addition E-6 ALTERNATE BID ITEM - Lightning Protection System a Cost Addition LS 42,000	<u>- ,:</u>							
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition LS 40,000 E-5 ALTERNATE BID ITEM - Solar-powered signage lighting a Cost Addition LS ALLOWANCE 2,500,00 E-6 ALTERNATE BID ITEM - Lightning Protection System	* 1002	TOTAL OF	ELECTRUCA	L ALTERNA	TIVES		TOTAL	399,500.00
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition LS 40,000 E-5 ALTERNATE BID ITEM - Solar-powered signage lighting a Cost Addition LS ALLOWANCE 2,500,00 E-6 ALTERNATE BID ITEM - Lightning Protection System				<u> </u>				
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition LS 40,000 E-5 ALTERNATE BID ITEM - Solar-powered signage lighting a Cost Addition LS ALLOWANCE 2,500,00 E-6 ALTERNATE BID ITEM - Lightning Protection System	<u>a</u>	Cost Addition			LS	<u> </u>	-	42,000.00
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelboards a Cost Addition LS 40,000 E-5 ALTERNATE BID ITEM - Solar-powered signage lighting a Cost Addition LS ALLOWANCE 2,500,00	E-6 ALTERNA		- Lightning Pro	otection System				: مالد بدلارت :
E-2 ALTERNATE BID ITEM - OMITTED B-3 ALTERNATE BID ITEM - Emergency Generator B-4 ALTERNATE BID ITEM - Panelbourds Cost Addition LS 40,000,000,000,000,000,000,000,000,000				() (1)		<u> </u>	.=	
E-2 ALTERNATE BID ITEM - Emergency Generator a Cost Addition E-4 ALTERNATE BID ITEM - Panelbourds a Cost Addition LS 40,000,000,000,000,000,000,000,000,000	Д	Cost Addition	· · · · · · · · · · · · · · · · · · ·		LS	ALLOWANCE	: . -	2,500.00
E-2 ALTERNATE BID ITEM - OMITTED E-3 ALTERNATE BID ITEM - Emergency Generator B Cost Addition E-4 ALTERNATE BID ITEM - Panelboards	3-5 ALTERNA	TE BID ITEM	- Solar-powere	d signage lightin	g .			
E-2 ALTERNATE BID ITEM - OMITTED E-3 ALTERNATE BID ITEM - Emergency Generator B Cost Addition E-4 ALTERNATE BID ITEM - Panelboards							•	نبخت بحدث
E-2 ALTERNATE BID ITEM - CMITTED B-3 ALTERNATE BID ITEM - Emergency Generator B-4 ALTERNATE BID ITEM - Panelboards				: <u> </u>	: L S :-		,	40,000,00
E-2 ALTERNATE BID ITEM - OMITTED E-3 ALTERNATE BID ITEM - Emergency Generator	Z-4 ALTERNA	TE BID ITEM	- Panelboards	:	:			
E-2 ALTERNATE BID ITEM - OMITTED E-3 ALTERNATE BID ITEM - Emergency Generator							<u> -</u>	<u> </u>
E-2 ALTERNATE BID ITEM - OMITTED	<u>a</u>	Cost Addition			LS		-	275,000.00
	3-3 ALTERNA	TE BID ITEM	. Етегденсу G	enerator				era e julie
	Z-2 ALTERNA	TE BID ITEM -	OMITTED	* * * * * * * * * * * * * * * * * * *				
a Cost Addition							-	
	<u>a</u>	Cost Addition	: ()		LS		;	40,000,00